/s (TeV) Ratio Rexp Tot. exp. unc. Rgy

5.02 [none-none-none-none-none]  Ryy+ - 1.519 4 0.002 (stat) £ 0.010 (syst) 0.67% 1.5240f8:§§’2§:
7 [220] Ryy+,w- 1421 £0.006 (stat) & 0.032 (syst) 1.8% 1.43 £0.7%
8 [222] Ry+,w- 139+0.01 (stat) £ 0.02 (syst) 1.6% 141 +0.7%
13 [none-none-none-none-none] Ry+,w- 13615+ 0.0018 (stat) £+ 0.0094 (syst) 0.70% 1,35361'8%22
5.02 [none-none-none-none-none] Ry ,z 10.905 + 0.032 (stat) £ 0.054 (syst) 0.58% 10.777f8:§2§§j
7 [220] Ry 7 10.54 + 0.07 (stat) & 0.18 (syst) 2.3% 10.74 + 0.4%
8 [222] Rw,z 10.63 £ 0.11 (stat) & 0.25 (syst) 2.6% 10.74 +0.4%

13 [none-none-none-none-none] Ry, 10.491 4 0.024 (stat) +- 0.083 (syst) ~ 0.82% 10.341+041%



